c=Sqrt[2] /2
G= {{-c, -1}, {-c, 0}}

F = {0, 300}
iG=Ilnverse[Q]
b
V2
1 1

- , =1, - , 0
etk o))
{0, 300}

(o 7} 1)
s=-iGF//N
(424,264, -300. }

Alh =s[[1]]1/24// N
A2h = Abs[s[[2]]1]1/24 // N
A2Eh = Sqrt [Abs[S[[2]]1] 4x10072/21000/Pi] // N

17. 6777

12.5

13. 4867

NM ni mi ze [{Al Sqrt [2] + A2, {Al > Alh, A2 > A2h, A2 > A2Eh}}, {Al, A2}]
(38. 4867, {Al - 17.6777, A2 - 13.4867})

pl = Contour Pl ot [AL Sqrt [2] + A2, {Al, 0, 20}, {A2, 0, 20},
Cont our Shadi ng » None, FranelLabel - Autonmatic, ContourlLabel s » Truel;

p2 = Cont our Pl ot [A1 Sqrt [2] + A2 == 38. 486710626894705,
{Al1, 0, 20}, {A2, 0, 20}, ContourStyle - {Geen, Thick}l;

p3 = Cont our Pl ot [{Al == Alh, A2 == A2h, A2 == A2Eh},
{Al, 0, 20}, {A2, 0, 20}, ContourStyle -» Red];

p4 = Cont our Pl ot [{Al == 17. 677669529663685, A2 == 13. 486710626894709},
{A1, 0, 20}, {A2, 0, 20}, ContourStyle - Bluel;



2| GY2-P1m.nb

Show[pl, p2, p3, p4]
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